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1.

Pleass @e,:r;’%:say it j:mr Roll Num
Shaet. Candidate will themsslf ?;J
for filling wrong Roll No.

2. Atthe slart of the examination f}eﬁﬁae
the guestion paper kindly check ¥ w‘z
and OMR Answer Shest and amu

¥ The serial numbers of test booklet
answer sheet are sams.

" All pages of test booklet and OMR answer sheet
are properly printed. All guestions from S.No. 1
to last B.No. 128 are printed and gag% from
S.No. 1 fo last 8. No. 18 are there in the
guestion booklet.

in case of any discrepancy / defect the candidate
should immediately report the matier to the
invigiiator for replacement of test bookist and OMR
answer sheal. No claim / objection in this regard
will be enterfained after five minutes of start of
examination. Candidate will be liable for it.

3. Answer all qusstions.

4. All guestions carry equs! marks.

& Only one answer is to be given for each

&

7

question.

if more than one answars dye rﬂa*kmcﬁ, it would
be treated as wrong answe -

Each guestion has four aitema?s\;e e
marked serially as {A}, {B}, (€}, (D). You have
¢ darken only one circle or bubble indicating
the correct answer on the Answer Sheet using
BLUE BALL POINT PEN.

8. Use of Mobile Phone/Biuetooth Devices or any
other electronic gadget in the sxamination hall
is strictly prohibited. if any such prohibited
%'r*afer@ai found with an } candidate, sirict action
will be taken against him/fher as per rule.

8. If there is any sort of ambiguity/mistake either
of printing or factual nature in Hindi and English
Varsion of the question, the English Version will
be treated as standard.

Warning @ ¥ & candidate is found copying or if any

unauthorized material is found in his/her

possession, F.ILR. would be lodged against him/her
in the Police Station and hm/\,rap would liable o be
prosecuted under Section 3 of the State Prevention
of Unfair means Act, 1892 and Board Regulations.

Board may also debar him/her permanently from

all future examination of the Board.
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Drinking water from Indira Gandhi Nahar
Project is NOT supplied to which of the
following places 7

(A) Bikaner (B) Jodhpur

(C) Pali (D) Barmer

e e i T EEY ey wET afe
¥ Yuerw wE agEren SR g 7

{/f'&} é%é’fﬁﬂ"
(C) ursiy

(B) sy
(D) I

Which breed of Sheep in Rajasthan is also
known as 'Indian Marino' 7

(A) Maalpura {B) Pugal

{C) Naali (D) Magra

¥z @ Frw e @ w70 B A of
SiESiiE I
(A) wr@qT
(C) =it

(B) T
(D) =T

Which of the following convention works
to combat desertification 7 ‘

P F F 2 T T TSR & AU

& T B BT R 7
(A) UNICEF
{(C) UNESC

(B) UNCCD
(D) UNWF

Which of the following princely state in
Rajasthan was the first to enact a scheme of
preservation of the forests ?

(A) Marwar (B) Jaipur
(C) Jodhpur (D) Kota
TR ) e ¥ o Ree Sl faga A
I EREOT B G e B 7

(A) AT (B) ST

(C) Shagx (D) BT

Which of the following is not a category of
Ground Water Blocks in Rajasthan ?

(A) Safe (B) Semi-Critical
(C) Over-exploited (D) Least-exploited
o A o ¥ ¥ oW O W T e o
o AT 7
(A) geftm

(C) wifa deiisa

(B) o1¢f wifaes
(D) =77 W

o
gayY

i
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"Barchan' landform is associated with which
of the following physical divisions ?

{A) Hilly (B) Plate
(C) Plain Region (D) Desert Region
T WS T Y § Bey As P g
SEE

(A) TERE WS
(C) Ay ey

Region au Region

o

(B) ward W
(D) wowwyg T8

River Mahi forms a boundary between which
{ the following azgmms in Rajasthan 7

( A} ?mﬁi&gg@h -
(B) Dungarpur - Banswara

uﬁgai‘p%

(C) Dungarpur - Udaipur

(D) Banswara - Pratapgarh

TR ¥ ATl e e ¥ ¥ R Rl @ den
@.‘—‘Uiig % ?

(A) vameTe — $RQT (B) YT — si9a!
(C) TG — Seaqe (D) sigarst — waaTs

The Hela Khayal folk music belongs to
which of the following areas of Rajasthan ?

(A) Sikar - Jhunjhunu

(B) Dausa - Sawai Madhopur
(C) Bhilwara - Chittor

{D) Dungarpur - Banswara
T TUT amEnT e % B
forg &3 @ GER@ ¥ ?
(A) T — T
(C) st ~

wifeifed ¥ @

(B) <rar — waw wEigl
fds (D) $QR ~ Sieams

Where is the main temple of Devnarayanji
located 7

(A) Talwada (B) Aashind

(C) Ramdevra (D) Panchota
SITCRICIST T YT RET wEl orEaRgd ¥ 7
(A) TEaTRT
C) TERET
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517t~ 3 Lot b etnd
Wwhich princess of Bikaner was felicitated

with Ariun Award in 1968 for Shooting
{A) Bhuvaneshwari Kumari

\

(B) Sonakshi Rath

e,

(YR ”;},:mﬁr\c@ Kumari
(D) Usha Devi

.

§E§§ ;é & [E Y] x.\ﬁfgw* ?i‘g% i1 %:Q*K’zﬁ;?@%‘aﬂiﬂz '333:3— gﬁj‘z
1968 % &rp qRet ¥ wef Rer w7
(A) gyl Bl
{8 STt 33‘33';%@%
(C) Togdr oy

(D) w1 &2

ich of the éigﬁi@w%@g inscription fmf@wg
light on the early history of Chittor

{A) Achaleshwar's inscription

{B) Manmori's inscription

(C) Samoli's inscription

(D) Bijoliya's inscription
Frefafea & ¥ 89 o1 ofiee Rl &
i UT Wy swer ¥ 7
(A) SEweET @ g
(B) A ErRY @ e
(C) graw & o

(D) ol &1 aifeerg

o
i+

Name the clan godess of Rathore Dynasty.
(A) Ashapala {B) Shakambhari

{C) Nagnechi (D) Bijasan

TR TSRy & Foedl & 99 SOy |

(A) Sn9ToTET (B) sl

(C) v (D) e

e

Sikka Elchi was issued by which Mugha
emperor in Mewar after conguering Chittor
{A) Babur (B) Akbar

(C) Jahangir (1)) Shah Jahan
e e aes w foas Rew ¥ ouow faE
% T el sy Rear ?

(A)s1T (B) smeEyt

(C) s RS

ol
ai
9

Lt

17

i8

Pachhiewda' refers to —

(&) Turban (B)le

{C) Costume D

‘quest Welfa ¥ -

(A udy § (B) amye 9

(C) aivem g (D) &89 T

‘Bomb' dance is associated with which
place 7

(A} Alwar (B) Udaipur

{C) Shekhawati (D) Marwar

T T B O Y WH Y §

(A) o (B) SeaqY
(C) Jremaréy (D) wE®

Who was the author
(A) Maharaja Raj Singh

(B) Maharaja Jaswant Singh |
(C) Sawai Jagat Singh I

{D) Rao Maldev

FRfTaTe % a8 7
(A) FETeT TeTdE (B) wEe
(C) wu sl [ (D) W@ ARy

s §
WGEOiE L

author of Harimekhala' 7
{A) Mahuk (B) Jayanak
(C) Shyamal Das (D) Sadashiv
aREr B & 7

(B) vuEes

(D) weidrg

‘iﬁf ho was the

shuEEr %

(A)9E®
(C) ygmeeg

Rajas hg@?@ occupies
an Siate's

Eastern plain region of
approximate percentages of Rajast

total geographical area -

(A)61% (B) 23%

(C) 09% (D) 33%
T W T SEET 9 (R U9
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In Rajasthan, which one of the following is
popularly known as 'Mawath' 7

(B) Desert Soil

(Cy Winter Rainfall (D) Folk Danc

e Y @ B 7/, TR ¥ gk T?”( LY
e’ & B W WA W 8 7

(A) vEgE @I (B) wewelg g

(C) Yicerm aul (D) ST

In Rajasthan 'March of Desert’ mechanism
is related with —
{A) Winter rainfall in desert
(B) Extreme temperature in desert
(C) Expansion of desert
(D) Declination of ground water level in
desert
Y Y AOW B TarT URRaT %7 g9 T
(A) wowm & faeeE ol §
(B) woww ¥ 9T OEE §
(C) wowr & Fa ¥
(D) woeey oW @ ¥ REe §

Which of the following is not a Gypsum
producing centre at Barmer 7

(A) Kurla (B) Sheokar

(C) Khutaani (D) Paar ki Dhaani
frer & § & W B Wew W e |
TUEH HF 6l & 0

(A) BT (B) wax

(C) gzri (D) oK @} gy

Where the Jait Sagar Talab is situated ?
{A) Udaipur {B) Bundi

(C) Ajmer (D) Mount Abu
(A) YT (B) T

(C) sr@mT (D) e am

Who among the following saints was
Muslim by birth ?

{A) Mavii {B) Haridas
(C) Laldas (D) Charandas

Prfefes ot ¥ @ @9 59 ¥ gEeEE O 7
(A) wresh (B) sferg

(C) areere (D) =reerd
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{(A)Kota (B) Bundi
(C) Kishangarh (D) Biiolia

i W e (arer) wel Ruw ¥ 7

(A) B (B) &1
(C) Trerrre (D) Rl
Who said that Political Freedom had

no  meaning  without economic
em gewc:%mem ?

(&) Ratandevi Shastri

(B) Kamla Swadhin

(C) Kalyani Parashar

(D) Shanti Trivedi

for RIS & o1 el wEsar o

wre o w8 uE frew wer w7

Where did Virangana Kalibai live, who
sacrificed her life to protect her teacher 7
{A) Sagwara (B) Rastapal

(C) Simalwara (D) Banswara

A s, Rrew oo st & w9 |
WM%%,&%%@%@%W& ?
(A) armEnEy (B) T

(C) Revrerarst (D) wig=sT

Who was the founder of Kamadiya Panth ?
(A) Saint Peepa (B) Saint Dhanna

{C) Saint Laldas (D) Baint Ramdev
HETT 49 & TweE BE ¥ 7
(A) gF g (B) €3 g1

(C) ¥v wmE™ (D) ¥q g
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28 Wi m was the ruler of Jodhpur at the tume of

its integration in Rajasthan ?
Ay Maharaja Hanuwant Singh
.

bt

i

=

Aobmermie 1 Toamd W5meskh
Jigharaia Umed Singh

Byl

() Maharaja Ajit Singh

Looot 2.

i Tt Tt

{D) Maharaia Bhim Singh

LUGEA R ® e BT & T SHEYU % 3w EAn)
g 7

(A) FETCST EEw [E

(B) weroey ohE R

(C) AEreT SeiE KT

(D) weroen 9w ¥E

In which area of Rajasthan 'Pandhari
Modhaks' are famous 7

(A) Jodhpur (B) Nathdwara

(C) Bikaner ) Em@m‘

e ¥ By e e e § 7
(A) SEgT (E} RIEETY

(C) =t (D) smge

" Who was 'Agent to the Governer General'

{AGG) in 'Rajputana Residency' at the time
of uprising of 1857 ?

{A) Major Burton

(B) William Eden

(C) Captain Showers

(D) Patrick Lawrence

1857 & % owE & THO TSgEE e
¥ ‘e T TENT S (QENEh) e oar ?
{(A) TS §=H (B) i $9

(C) Few qifad (D) ¥ wree

The princely state, which was not the part
of Rajasthan Union formed on 25% March,
1948 -

(A) Bundi (B) Pratapgarh
(C) Udaipur (D) Shahpura

Ay Foom, st 25 I/ 1948 &) o dged
forern w7 T el O -

A) & B W
(C) wwag (D) smeg

A

( 1Jds
( U
TR » PV ™9y T
{(C) Banswara (D) Du
3

__‘3’“‘ { " ;\ 17\" . {\ e
SHEgH z?{?%'f" «%'\i@m TSI o TIRTRE e

AN g .
{Px} ?«i(@’@g‘é (i
(0w Ty
(C) graener e

Which o %‘i@ following produc

zﬁa@fﬁg if curtains 7
} Ambla {B) Khas
{Cy Tendu (D) Jhabu
Fratafag vandl ¥ € &9 91, TR 9 § i
I
(A) afem (B) ¥
(C) g (D) 7158

Which of the following is in the UNESCO's
list of "World Heritage' sites 7

(A) Desert National Park

(B) Ranthambor Tiger Project Park
(C) Keoladeo National Park

(D) Chambal Ghariyal Sam&z’y
e & & @ e @ v e W
NER

(A) T we suM

B) Tk I1m e Sue

(C) Saey TLT U™

(D) Tras ulsam SIWUTT

NH-44 passes through which of the

following districts in Rajasthan 7

{A) Dausa {B) Dholpur

(C) Karauli (D) Sawai Madhopur
T TeET-44 TeTee % fee B € Freswar

¥ 7

(A) g (B) €T
(C) wirt (D) war AR

Hilly soils in Rajasthan are found at :
{A) Kota and Sirohi

(B) Udaipur and Sirohi

(C) Sirohi and Ajmer

(D) Udaipur and Kota

TETS! gar TeRgT ¥ URl W€

(A} ﬁ%@f‘ﬁ e o By e g f0d A
(C) B 7 owdT ¥ (D) SeaqR g T ¥
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River Chambal forms a boundary between
which of the following districts in
Rajasthan 7

{A) Kota - Baran

(B) Baran - jhalawar

(C) Kota - Sawai Madhopur

(D) Sawai Madhopur - Tonk

T 8 e H P ¥ w R Rl o Ao
TR E 7

(A) @y ~ T
(B) w1 - IS

Y z .
(C) wrer — guR wuyg

(D) g= wegl — 2@

What is the other name of Luni Basin 7
{A) Shekhawati Tract

(B) Gondwana Tract

{C) Mavli Tract

(D) Godwar Tract

o R @ of Rew W @ s e ¥
(A) SraEry & (B) Tvsa™r &
(C) wramy & (D) 7i=a &

In Rajasthan, Tanka and Khadeen are types

of —

(A) Traditional Warfare

(B) Traditional Folk Dance

(C) Traditional Agriculture System

(D) Traditional Water Conservation Methods
e ¥, @i o W TeR ¥ -

(A) TTUIETE JEREE B

(B) TTUTT WHTE &

(C) vt i vely &

(D) TCUUT W G %S B

In Rajasthan, according to XXM census of
animals (2017), which of the following
districts has maximum number of livestock 7
(A) Dholpur (B) Barmer

{C) MNagaur (D) Jaipur

Tt % oo Rt &, Trorear &t KO3 wgpromn
(2017) & @ waliy® 9yE e ¥ 7
(A) e (B) iR

(C) wmix (D) s

o

47

43

www.HaryanaJobs.

7{:%:; pump is more suitable for an
sm where very 1 %g
required to be develop

&0
3
e e
Fo
93
e
Fon @

(C) Turbine

(D) None of these

Q@&W%@um T elte v ¥ [
Tt wew YEE 8, a9 o 9 99 oie SugE
w7

Which of the following is not used in gas
turbine power plant 7

(A Compressor

(B) Turbine

{C) Combustion chamber

(D) Condenser

= 8 ¥ oW o g T ow 9 W s
w_e P
(A) Tofes
(C) z& &F

(B) zamw
(D) g

Which of the following centrifugal pumps
has higher specific speed than the others ?
(A) Axial flow

(B) Radial flow

(C) Mixed flow

(D) All have same specific speed

= ¥ fow o= e @ Rt oy emr
e ¥ 7

(A) @& vaTE

(B) Breu (eum) wame

(C) fiPrm vam

(D) wd & fafire iy w9 %

44

46

| |
LY 2 S % A e E =Y
What is the dischay ge

W{iig}}“ cating pump as compared io th

(A} Higher {(B) Lowex

{C) Same {@} Unpredictable
wer St 4y @ T smer oTassERy Uy
gem d E g 7

(A) vamEr (B) &9

(C) IRy (D) sy

w
w2
<28
o
@
ol
[
&
2
o &
=

Which t jpé: of coordinate
Aﬁ;\{. sﬁv L&F

(A 2@%@@@52%&% (B) 3-Dimensional

(C) 1-Dimensional

-~

D) User dependent

L

Aunto CAD % o v o Fdytie woney &1
I HE T

(A) 2-grravy (B) 3-amamly

(C) 1-amar (D) SuaETT & ST

is used to communicate information

* to industry.

47
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(A) Design data
(B) Installation drawing
(C) Machine drawing
(D) Patent drawing
W ¥ dE e

o 0 % fw v
HW T |

{A}%ﬁ&?ﬁ%’m
(C) 7w gEw

(B) SIS g
(D) ¥z giFm

This type of auxiliary view is projected onto
a plane that is perpendicular to one of the

principal plane of projection
{A) Primary {B) Secondary
(C) Revolved (I3} Successive

T T & TS 599 W U% §NOW (W) U

gafm fpor o7 ¥ W 9@OW ¥ UNE O

(@) ¥ 9 uw & Wy deag ¥ -
(A) e (B) e
(C) gt (D) i

7

56

EANNE 11 - v mmnls e
of the follow: ¢ scale is

B
(A)3:2 (B)1:3
©1:1 (D) 1:04

5

(D) Cutting plane lines

g weTe @ Y@t uw oum m ey 7
(A) Rrade Tard

(B) amarr TE|

(C) =t Yard

(D) & wwew e

Which of the fo
property 7

owing is not an extensive

(B) Enthalpy

(C) Internal energy (D) Density
Frafafea # ¥ o9 ww ool quys w6 % 7
(A) T (B) wiwd

(C) wriais o (D) o7

{A) Entropy

The state
vapour phases coexist in

known as -

at which the solid,
equilibrium is

{A) Triple point Critical point

Y
8
} Saturation point (D) Boiling point

T T WEl U oy, I Y ang eveeng
o G G oTE T8 GOy 5, & W W En
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: : o A E e ruede te ot
Air standard efficiency of Otto-cycle is given

3

rs

oy e & i Il
The unit of overall co-efficient of he

by -
Prefefen o § oW o dl-9% 9 9g S
ik
, 1 PR i
(A) | — 1 — e
\p’-} ,},mg *\8/ v+1
7 I
} 1 : ﬂ'}} g
T ™ )
(L) 14~ {L3] 1 e
A e »
p i ;ﬂ”g +i
Which of the following item is not a path
function 7
{A) Heat
(B) Work

(C) Kinetic energy

(D) Thermal conductivity

T ¥ T UH UY GET A8 § 7

(A) &oT (B)

(C) TR/ & (D) & g
The value of € o ij’i Qg for air is {Where

Cg = Specific heat at constant pressure,
I

. C,, = Specific heat at constant volume}

arg & frg Cp, /€, wram ¥ (ot - Cpy =

e T K e o, G = o e
9T Tafire @)

(A) 1 (B) 1.4

(C)y1.4s5 Dy23

The metal are good thermal conductors
because -

(A) their atoms are close to each other
(B) their atoms are in big size

(C) they consist free electrons

(D) None of these

YTg OrEy iR TI® Bl © wNg —
(A) T UTHIT] UE-TTE B §

(B) T% TTHI] ¥ WY & BRI S

(C) o7 wc wegH B ¢

D)z ¥ &g T

58

59

60

v mmrd B
é‘%zch _@g %‘%’3%% [

I g -
(B W/m* —k (B) %’?/fgﬁ"“

(C) W/[mk D) Wim

The vahue of Prandt! num
Ty % oy wiEE {?i‘“f&éﬁ} T & g S

ey for air is about -

¥

(A) 0.1 (B) 0.3

(© 07 Dy 1.7

The heat of sun reaches to us according to -
(A) Conduction (B) Convection

(C) Radiation (D) None of these
T @ I W 9% wEEal § -

(A) o (FEH™) &

(B) g7 BT

(C) TafeTw &

(D) T § B

The product of Reynolds number and Prandtl
number is known as -

(A) Stanton number (B) Biot number

(C) Peclet number (D) Grashoff number
iived 8 ST Wigw (Prandtl) ¥@0 % S@E
@l fFe w0 ¥ ST S ¥ 7

(A) ®TF e (B) sni d@m
(C) YT gem (D) wetie dem

The formula of the discharge over a
rectangular notch is -
AR Fe XY fyeew o g T -

) -wf” 1 xb2gH
®B) éf-fﬁégxéﬁ?.’zgxﬁ
< %Cdxbgggxﬁg/z

2

{@\%C Xboj2g X H

4

- {(A)two cylinder, two ram

64
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- .
ihe unit ‘34;9{33 of the turbine runper is -

TYEET TEY B R TR ¥ -

N N

(A) " B) 77

~H H

Z%ﬁ[ N
() 575 D) =5
) 3 N g
EL‘V:E L H*

Francis turbine %S

(A) radial flow turbine

(B) axial flow turbine

(C) mized flow turbine

type turbine

R

(D) inward flow radial
Wit T ¥ -

(A) TETw YaE TEEd
(B) 18T UE® TEE
(C) ™ vyaw TEEA
YRUd WET TREET

(D) srEes uamE

A hydraulic intensifier normally consist of -
and 2 storage
device

B) a cylinder and a ram

\/”’\

{C) two co-axial rams and two cylinder
(D) a cylinder, a piston, storage tank and
control valve
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The angle of taper on draft tube is -
(A) greater than 15° (B) greater than 8
(C) greater than 5° (D) less than 8°
g9 TP U A HW T -

(A) 15°F oty (B) 8° ¥ afyies
(C) 5° ¢ attum (D)o ¥ w4
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X D - e B W
el g W omOTiRe ¥ 7

7 - P R = U
(A) Bl Wiy (B) fonire srgas
(C) fahrsz il (D) s ey

ey £ [P S O : 10 e s
A draft tube helps in converting kinetic

CRGH % 3
(A) T st (B) T o
(C) o Fres ot D)= TaRT S

The underlying principle behind a hydraulic
g&@egs is based on -

{A} Bramah's (B) Pascal's

(C) Sicke's (D) Newton's

weenteT (sEsifie) o9 Reg safile feia o
et ¥ P
(A) gTE w1
z{{::} %‘4&%5 % {Q} ac\f-‘z E:;g)‘:

(B) uresw &7

The unit discharge through a turbine is -
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69 Specific speed of a turbine depends upon || 73 A beam which is fixed at one end and & 77 By which of foliowing command you can || 81
{A) Speed, Power and Discharge at the other is Qa;%sﬁﬁ - draw a rectangle in Auto CAD 7
(B) Discharge and Power (A) Simply supported beam e TOT ¥ % (6T o B W B O A
i AT
(C) Speed and Head O}c;f‘t/i%% o (B) Fixed beam g o e e 7
(D) Speed, Power and I iz:ﬁ:& of Water (C) Overhangining {A) ARC (B} POL
T eERT o e vk ?‘? T, W . () REC (DY OO
(D) Cantilever beam W) R
(&) iy, sl ot Pl v ’
(B) P e iR ww g fraw R wrd oft gmo R . e .
AN R A 78 Which of the following views provide clear
/ By B e O B DEE - 5 .
(C) 7l &R oFl W IR N information of internal features of a part ?
o S - VN e ST ET g}m e
(D) oy, siferr offe wrdt @ g (A) geeie o (B) wrdt e (A) Section views  (B) Oblique views
(C) wreaelt g (D) ST T (C) Auxiliary views (D) Pictorial views
70 Any gear base circle diameter is equal to - N N . ’ S e
PrefiRee ¥ © @:@ a1 g39 el oo & erafies || 82 Joules Thomson co- -efficient is defined as -
(A) Dxcosé (B} Dxsing 74 tre listan tween tw : i < A
y (8) LIxsin 74 The centre to centre distance between two T T BT Y wEw wer Y7 S e e @ areni fear T ¥ -
Y Fise s \ W - consecutive rivets in a row is called -
(C) Dxtand (D) None of these o s B pich (A) uie ged (B) fovim g (an)
S S ; - 3 {/ § argm } Pilc O
el PRIt @7 ST g A I B ¥ ;‘ C) Back pitch (D) Diagonal pitch (C) wees 3 (D) frw 33w W1 o ] (B) “;;‘f;;}
(A) Dxcosé (B) Dxsing o e g ' - e
(C) Dxtand (D)% ¥ B 7 e et ¥ & wmae rivets (R ZE) & A & 79 This is a common method for connecting .
7 / PR ¥ ¥ Bl B ww ow ¥ - id dg? Ip
A * steel members of buildings and %}?id&w o | = o) | ==
/ / , 4 - s . } 5 =3 N
71 What is shear of rivet ? (A)yslmr (@) (B) Rm (A) Assembly (B) Fabricating \9T Jp,
& (C) 9% % R (D) feeet R (C) Riveting (D) Welding
o - N n f—
A%  gETE! oI g o SR ol () @ WisY | 83 The pressure at the end of compression in
, 75 Which theory gives satisfactory results for % e wm v Rl T - the case of diesel engine is of the order of -
AN AN brittle materials ? (A) FEERISH W@ $9 & A F 90T ¥ ofd § W %
S R (A) Maximum shear stress theory (B) Pfor wE w7
) (B) Maximum principal siress theory B D { 6 kg/em? B) 12 kg/em?
(A) Single shear (B) Double shear (O Shear strain smi  theor (C) e (@ § wie) ! j - f’ e ( i 2 ﬁ/ 5
. 1 I bt i : L i3 ) CEY
(C) Tripple shear (D) None of these v HEHerEs 4 (D) e R () 35 kg/em
e @1 wda a - (D) None of these
@ 2 T e W verd % R devwe ofom r 84 Work done in s free expansion process is -
. a [ . i (A% %, —
~ T ? 80 In adiabatic process f/?;j is (A) +ve {3}
Y L ua—— s - © gﬁ;‘@ iﬂ} Mammamj .
NN N : T (Y T Wi ¥ T T B T -
A@\N\& \%\b\x\\\\\ —>P (B) st vw Thew e ¥ 0y et Yi : ) ) \G{ ¢
e < TIIIIIE) (©) s Bt o et v A /7 e (8) +ve B) e
NS ) ‘ (C) Zero (SQ) (D) arfrepe
(A) TEET HAT (B) ¥t oA (D) ¥ & B T -1
(C) feu &= D)z § B 7E Py v, ! 85 The torque transmitted by a solid shaft is -
76 Hooke's law is applicable within : (A) =| — B) = “‘;/f"”" T S S T R Senee ww o 7
72 Example for cantilever beam is - (A) elastic limit (B) plastic limit ) 1 ' ‘
* Fa 3 Ead H -y
zig g}:’?w slabs igi igii Sga%j‘ (C) fracture limit (D) ultimate strength (A) Z a3 (B) s
ridge (D) Railway sleepers i _ . th r—1 V4 T8
e o 1 T T & P fw S qw e B & 7 AL }?Y
N ) ‘B SRewar T (0 = ke m ={(V, ! 3 T .3
(1%}% & (B) 5 & L {A) Ty g (B) wi&sd r ) = 7 i ) i%y; } (©) M;E«gf‘"g (D) fmﬁdﬁg
(©) (D) T @ (OF Tereici (D) = g 27 64 16
| 80G2 0 1
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The property by virtue of w%z ch a metal can

be beaten into plates i

(A) Ductility (B) M ability
(C) Resilience (D) ijﬁf iness
TE v e B0 O W g B 9R BT Ty

ﬁ EIGITH @éﬁ) ELRIR % -
e (FeEn)  (B) emavaeedn
TRITEET (D) wareT

{A\\
e
R

If 2 beam is supported on more than two
supports, it is called a -
(A) Built - in beam
(B) Continuous beam
(C) Simply supported beam
{D) Fixed beam
It e 99 T ¥ afte e W
wEd E -
(A) satiim 9
(B) Frigy (¥oa) 9
(C) gerrs §m
(D) =l 9

Rere &1 o w8

What is the type scale in which the
representative fraction is 1:1 7

{A) Enlarged scale

(B) Reduced scale

(C) Full size scale

(D3) Graphical scale

v Ym w § e wRitly ey 101 % 2
(A) =% 5T ¥aH

(B) w1 e YA

(C) got s &1 Ymr

(D) T T

U.D.L. stand for -

(A) Uniformly Diluted Length
(B) Uniformly Developed Loads
(C) Uniaxial Distributed Loads
(D) Uniformly Distributed Loads
UDL. & o7 ¥ -

(A) ¥ w0 ¥ TFT @9%

(B) o wu ¢ Fowfag 9

(C) w gl fafe o1

(D) w=m wu ¥ fgaha WK
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56 Which of the following is a permanent
fastening 7
{A) Bolis (B} Keys
(C) Cotters (D) Rivets
Prafie o € oW ur el guw ¥ 7

92

93

The ratio of the ultimate stress to the design
stress is known as -

{A) Elastie limit {(B) Strain

(C) Factor of safety (D) Bulk modulus
XA TiaEw § oTieer GRied & U W ST

T E —

(A)W St (B) gv1@
Ogasaw (D) 9% 9us

The leaves of laminated spring are subjected
w -

(A) bending stress  (B) shear stress

(D) all of these

(B) SU&Tw WS

(D)T &

(C) axial stress
wefora R & o)
(A) 9o wiusw
(C) orsfw wiosw

When tolerance is given on one side of the
basic dimension, it is called -

{A) Tolerance system
(B) Allowance system
(C) Unilateral system

(D) Bilateral system

WS A % T% a6 e (SRe) 9§
TR T, O W wE W ¥ -

(A) wftwpar (Seeg) womer

(B) g (3rmdw) worral

(C) Tmuisd™ wonet

(D) femedle worh

96

, - ra
. L
(A) Zm @:« (B) 2n =
Yz Vg
—
1 1L
© 5% D) ==
Zn ¥ L 2nVg
97 The average energy of turning wheel is -
RIREIEH q‘%’*&f % olem Fe E -
02
@) Io? B) —
© T2 ) [o?
B J S
' 3 4
98 The relation between Young's modulus and
modulus of rigidity is -
g7 wigies (B) 997 geat wraim (N) & gy ¥ -
1
(A £ = (B} E=IN{1+V)
' IN(+v) (T+v
(C) £ = (T E=2N{(1-V)
80G2|

Cotter joint is used when the members are
subjected to which type of stresses 7

(A) Axial tensile

(B) Axial compressive

(C) Axial tensile or compressive

(D) None of these

HET TE B T 335‘ T ST 3 WE eraya)
(members) T T § RF aw H aRmw el ¢

(A) srdfig o

(B) w&w €uss

(C) orefrr o= a7 ddre
(D) T ¥ @R 7

A maximum of how many rod
connected using a knuckle joint 7

W e Wi @ ¥AM ) 5 e e
wel By SieT 97 e § 7

[£5]

may be

A2 (B) 3
(©) 4 D)5

Periodic time in Simple Harmonic Motion
ig -

T amee TRy ¥ oradere e T -

166 The radius of gyration of

1841 The ratio

%%2 The contact ratio for

-
The ratio of transverse strain 1o axiai sirain
kR
is called -
TR % 3 e e
{A) Shear strain
CEY Tramtme md oot
{3} Pacior o1 saigly
3 M el 3 # ) fy
{C) Poisson's ratio
(D) Volumetric strain
Ty i
ST OIS YT HERE IHE W
3
3
5\&; J—
By T mTeT Twes
z&w CIREIRE bl {Iﬁ} TET T
kA - 2 3

8 : H TV srerers et
(C) IR U (D) ergT 'Y"‘M%?

of diameter d is -
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g 4 ¥ U T ©Y ¥ ity o B
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% e
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of maximum shear stress and
average stress in a circular section is -
W@W*@@ﬁﬁ?mﬁﬂﬂ% T wieEw ofX

Gﬁ'&ﬁ”%ﬁ%&ﬁ%@%‘”@!‘ﬁ

\m/
m.g ey

©) 1.5 (D) 4/3

\M./

{(A) Zero (B
{C) Less than one (D) G

PR % WW\?@?{Q@W{@*

(&) B) 7@

€)w ¥ &9 (D) T® ¥ suE
183 A Harinell governor i "3 a -

{A) Dead weight governor

(B) Pendulum type governot

{A}W Y \;\@ %B%”ﬂ HELES
(B) Ygw® W & T

(C) i T T

(D) 9@ T




to
LI Y
T T giew ¥ Bww Tw g b -
s % ] 7 o . 3
(A) 10 ¥ 15 kg/om?® (B) 8 ¥ 10 kg/om?
(C)S & 8 kg/em? (D)1 ¥ 5 kg/em?
105 If compressor air flow is parallel to its axis
then compressor is called ~

(A) Axial flow
(B) Recipro
(C) Centrifugal compressor

(D) Turbo compressor

Tiy gde® o g W I9E T S B
T A 95 9% wE wer § -

(A) o ga diee (B) yarmd ddwe
(C) w1 vies (D) == wiew

W CoOmpressor
ocating compressor

NEEE

196 Specific speed for impulse wheels ranges
from -
{(AyO 1o 4.5 (B) 10 to 100
(C) 80 to 200 (D) 250 to 300
e afedt & fe Rifdre ofy W oow S ¥ -
(A)0w 45 (B) 10 % 100
(C) 80 & 200 (D) 250 & 300

187 Reciprocating pumps are also called as -
(A) Force pumps (B) Mass pumps
(C) Heat pumps (D) Speed pumps

YWY 99 @Y e S EET W R
(A) s 9T (B) 5rg 4y
(C) T dg (D) iy dq

108 The ratio of actual velocity to the local
velocity of sound is called -
(A) Velocity ratio (B) Velocity factor
(C) Speed ratio (D) Mach number
W W aReE 9 ¥ WFE 3T % e
AR & —

(A) T e (B) I &
(C) wfy e (D) ¥ w§T

[80G2
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109 If stage efficiency is S, blade efficiency is B

(AYN =B.S (B)S =B.N
(C)B =8.N (D)B.-S. N =1

118 Drop wise condensation
{A) Oily surface

(C) Smooth surface

usually occurs on -
(B) Glazed surface

(D) Coated surface

BT T1E SEET AT U fre g 9T BT R
(A) ¥vhg TS
(C) Toa oo

(B) 99eEr 98
(D) el s

111 Thermal radiation takes place at a surface
which has a reflectivity of 0.55 and a
transmissivity of 0.032. What is the value
of absorptivity 7

TS gIE Wel aigy ke & wr ¢ R
e 0.55 ¥ qur urorEr 0.032 ¥ &
SEINTERGT W HIF T B 7

Al (B) 0.418
(C) 0.55 (D) 0.032

112 The automobile radiator is a heat exchanger
of which of the following type ?

(A) Paralle]l flow type

(B) Counter flow type

{C) Cross flow type

(D) Regenerative type

AT W B WA T § BeE THR H o
s § 7

{A) T9TIIR YaOTB

Hehi]

(B) fatrely vare v
(C) BTG TITE THR
(D) gty g

113 The Heat transfer egusatio

T AT TN Q=0 AT" wEaky T -

(A) Rrpr-geesi
(B) wige™ fraw
(C} i‘é?f\a“ﬁr %&%

(D) =gz Frem

114 Kinematics pairs are those which have two
elements that
(A) have line contact
(B) have surface contact
(C) permit relative motion
(D) are held together
JETie (@RFEEE) S 9 B § W @ T
T ¥ S -
(A) WIZT § WU&F &<
) TEE W TIE B
) EE T B oeEEh §

(D) tw Ty o ¥

115 The number of dead centres in g crank driven
slider crank mechanism are ~

Tep B T WRET 5 O § Mg e
.&“%‘—

(A)0 (®)2
{C) 4 Do

116 When one of the links of 3 kinematic chain
is fixed, the chain is known as -
(A) Structure {B) Mechanism
(C) Inversion (D) Machine
T TE DAHCE YO E e A T TH P vr%
(Reeres) Fomam wm%'i“gm 39 w9 A WA
GG

(A) g (B) d@x
(C) Forw (D) wsf=
[80G2|

e
L

Y (RS Fa 3
ﬁf‘“x {“"JC a\i } /UG

Fa IR Rr T 4o [TV T NG
{ 3 £y
)y 135° (D) 180°

AN i - - -

£ .

(B) the resultant couple must be zero.

(Y hotl + £ 3 P

(C) both the resultant force and couple must
be zero.

(D) none of these

= W‘f 7 W g g ReEEl @ QU
RERECE &F‘Q AT WEITE T 7

(A) w%fw T IFU BT WISY

(B) afcomdy g gfw g =Ry |

(C) afcomll w1 o I IR SR BN TR

(D) ¥ oE 7o

119 In a locomotive the maximum magnitude of
the unbalanced force along the perpendicular
to the line of stroke is known as -

(A) tractive force (B} swaying couple

) hammer blow (D) none of these

TF AEEieT ¥ wie @ @ % dead ey

T % Suead TICAT & T dEd § 7

(A) i (chrem

=) g6 (B) doE g
(C) Tt =0 D) v ¥ B T

rf-.\

h%‘jﬁ In an automobile, if the vehicle makes a lefl
1, the gyroscopic torque -

\) Increases the forces on the outer whe

y Decreases m@ forces on the outer wheels
E}o@s not affect i@ forces on the cuter
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2
guTieredy STl
(A) S0 it 9w @ s R
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(B) ¥4 ofedl 9T g & 9
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